SM4E10HA 1484

B B M E x (10%H)

1—F n % hnEE S itk | —H% = B H<DIT
120|151 e KB EEEHETHA 1 (EXE) 1,980 2,200] 51 kg R4.4.27
121191 e EHFEEEETHAT 1 5EH) 1,580 1,760] st gt R4.7.28
122|121 e EHBFEEEETHAL 25%%) 1,580 1,760] s+ gt R3.9.28

B 123|19- 1 ERFEEEETHAL (3B5EH) 1,580 1,760] st gt R4.8.26
124|121 e EHBFEEEETHALI 45X 1,580 1,760] st gt R4.9.14
102|131 HMEBREEEETEHA 1,870 1,980] sl k=g R4.7.13
103|25THR 28R ZiHEESE 2,090 2,310] 2/l b3 R4.6.1

W 1041 ZiEXBERAE 1,540 1,760] smu b gs|  H20.6.30
105|6ETHR3RI RARERIEE (REhd) 2,871 3,190 =mu R3.6.10
106 |EREFIEFIE THhAUPTVERRBEZOREEA 693 770 sl bgmst]  4n2zen
108|2-1 ¥ ZHEAEBZNOMRER 5447 5762 =mu H20.9.25
109| S FISFE R = B B R BERE 3,762 4180] =n R4.8.10

& 110]185THR ERRZELARER 4752 5280 = R3.10.20
11| SR2ERAEFTRINE 4,356 4840] =n R2.7.10
12| £ EHRAEZ L EMEEIQRA 660 1,100] s+ gt H28.4.1
114]1-2 Z 5 # #if 830 1,047] sl kgt H16.5.6
15| B ERFTHEY=1TIL (@ hF) 2,376 2,640 2/l Emx R2.8.20

Sl 116|1-2 ERMESWH 1,100 1,362 st gms|  H26.3.22
18| EBEICE TN EARGNIET VY 1,270 1,980 st gs|  H28.4.15
125|2RETHR ¥EHRRERDOFSIE 1,485 1,650 o/ £ 3|  R3.10.15
126|65THR EIEHEtRE EHENIE 1,188 1,320 st s|  H29.7.10

128A|8-3 EAXRE R EHHIKV\ET=HR) 4zt 5,500 7,480] 5.+ g5 R3.5.28
132A13.0 Z(H%£R{ZEAEKCD-ROM Ver3.0 2,860 3,520 sl kgt R2.8.26
131|1-1 ERIEEHIFIHI0EH 1,100 1,320 s tgst|  H20.8.29
230|151 IREHE S EEMEEEXR) 1,870 2,090 smu1 bl R4.10.13
231|111 B EREETEMEE XX 1,650 1,870] sl k&5 R4.8.8

S| 232|121 HEEHEEEEMELEQREER) 1,650 1,870] sl k&5 R3.8.30
233|6-1 EEHEEXEREECEER 1,650 1,870 smu tmst]  R4.10.26

A 234|6-1 EELKEFELEHELEUEED) 1,650 1,870 smutmst]  R2.11.25
235|2-1 BEDIEEE/IHOBFIHOEE 1,980 2,200] 5. ks H22.4.6

M 236]2-1 BHZISKROONDIVTHTVAERE 1,980 2,200] 5. ks H22.4.6
237|1-1 X2 F1-a Y LAV NEEREE 2,300 2,640] smuL bgmp]  H23.12.13

7| 24001-1 EEE DO DEEMER) 2,720 3,300 61 Egmst]  H25.1.29
2411-1 ZEE D =-HDEHHI(DVD) 3,820 5,500 etxi1 bl H25.1.29

Ul 242|1-1 ZiEE0t=-HDESHi(EYR) 6,280 8,8003tyb i bmsd  H25.1.29
238|2-1 HFRIETHAR MBEHEERR(EZR) 1,560 1,909] st kgt R3.6.28

J| 23932 MR E X RS ERIREE(100R) 1,540 1,980] s+ gt R3.9.28
249|4-1 HRZHREFOFSIEIHR) 2,200 2,409 smyL b H30.1.31

JU  250)5-1 R EHEFOFEI(LER 2,300 2,015 smutmEs| RIt.12.24
251|111 B R TS 2 MR R R RE S (20079) 2,640 3,080] smur bsme]  H30.3.20
252|6-1 3P i £ 751 HRASHERIRE £ (200R]) 2,640 3,080 5Lkt R2.5.27
253|141 ZHEBEBAEILER) FiThR 1,980 2,200 5L kg R4.3.3
25417-1 EHEEXERAGUE - HBR) FETIR 2,090 2,200] sl Emx RJT.9.17

H| 255|9-1 ZHEBKEHAGEERE) HETR 2,090 2,200 smu |  RIT.9.26

| 256|1-1 B EBEHACGERR) FETHR 2,090 2,200 5L kg H18.7.7

1 257|121 EREREHAREEWR) FETIR 2,090 2,200] sl Emx R2.4.1
258]1-1 ShERMIE £ 8 1,930 2,095 smuL bgme|  H13.1.31




—F o 2 I B | — e | = & BT
259|2-1 EBMHE A 1,980 2,200] sl Emx H28.4.15
260|2-1 ERMXBHEEHERS 1,930 2,095 sl Emy H225.7

B 261|6-1 W EEE BT HEE FEHEMD 2,200 2,420] sl Emy R4.4.15
vl 262|1-147Ab TS TRIEDH KEHRADDHKEN30) 500 880] smuitmu|  H27.8.20
| 263|4-1 EE R - RRELER 1 BAEERIREE(2507) 2,640 3,080] sl Emx H31.35
264|8-1 HE & - RAFLER 2 ARE B RIRELE (25079) 2,640 3,080] sl Emx H30.1.31
265|1-1 HRIETHA EERERZHAB(EZR) 1,560 1,905] 5@tk mpy H31.2.27
266[3-1 & B FERRE B 2R E BRI REE(100R]) 1,540 1,980] 5 A £ w4 R3.10.26
200[12-1 REFEZHEBOF5IWIHR) 2,090 2,409 smplEmx R3.4.20
20141 RBFELHEBOFSI(LER 1,990 2,200] sl mx H29.7.12
8l 215|181 EFELHEFH 2 RIS EERIREE (200R8) 2,640 3,080] sl by H29.8.9
X| 205]2-5 R EFBEHEF 2RI REE(100R]) 1,540 1,980] sl k=g R4.3.18
| 2046-1 KBFEEHER 1 RIESIRIREE (200R9) 2,640 3,080] sl by R3.4.20
ENl  202|12-1 MEERZHMERFDF5I(HHR) 2,400 2,619 smel @y H30.1.31
Rl 203|8-1 ERZHEHFDFSI(ER) 2,400 2,619 smel @y R3.4.20
214]15-1 FeERE (H £ 752 MRS AT RIRE & (2007 2,640 3,080] sl mx R3.10.26
207|5-1 FEER XS 2 RIS ERRIREE(100R) 1,540 1,980] sl k=g R4.8.17
208]9-1 FEER X 1 RASHRRIE £ (200/9) 2,640 3,080] sl Emx R3.11.24
209]11-1 Zig 8. B6H) 1,540 1,690] 11/t my R3.4.14
210|141 BRBETEHER TEFEZHEF2REZR) 1,560 1,905] 5@l kg R3.12.10
21131 HRIFEEEA HEEERER2REER) 1,560 1,905] sl kg R4.4.27
280[2- 1R EEEEGEEER) A [ (EXR) 1,320 O] == H24.8.8
281[3- 146 EEFEGEEER)HAL (1 5X7) 1,320 o] ==z R2.8.20
282|215 EEFAGEEE R &AL (25%%) 1,320 0] == H24.8.8
283|3- 115 EHFEHGEEEMA BAL (B5E£H) 1,320 0] == R3.2.22
284|315 EEFAGEEE R &AL 45XH) 1,320 0] == R2.8.20
285 | EREHR DTS 620 838| sl my H18.9.20
286 | EREHR DTS 1,980 2,200] smyL bgme]  H18.10.30
287|2- 1 R REBEHDF I 1,100 1,320] 5@l kg H26.11.7
il 289 2- 1R BFEEHBEFDFSI 1,540 1,760] 5@l kg H26.3.22
201 | B REBEHDFS 1,760 1,980] 5@l ks H19.7.3
2792 1R E R EBEDF I 1,980 2,200] sl Ems H26.5.24
el  288|3-1 EHIAEIC LSRR EHET 1,980 2,200] sl ms H29.7.18
293|12-3 ZigEE DR (125130 3,030 3,300] 5l £ R4.4.8
423|ZHFE 940 1,100 = = H20.11.1
Z| 124|ZHFR AN E-EMRIK) 100@LLE 11,0000 11,000 = = -
A25|Z(FFR B AN (£XFHIRIF) 100 L E 5,500 5500 = = -
5371 -1TRIBRIEEER) BT 1,040 1,152 smu @] H21.12.16
Bl 5391-11/ME- KIEIREEE) BT 1,150 1,257 smu @] H22.11.25
SA0|ZRERBNE DAY LTULFIE 2514 2,860] sl Emy H24.12.3
541|5-1 £ a)T4- TS+ —BELAR[FE15] 5,700 5,940] sl Emx R3.10.26
542|5-1 £ ) T4 TS F—HEBELAR[FE25] 2,400 2,420] sl my R3.10.26
538131 ¥ al)T4- TS5 o F—EEMEE 2,300 2,640] sl Emy H29.9.23
550031 X2 T 1A HILENEEHRARIE125] 5,230 5,940]smu @]  RIT.10.1
551|3-1 w2 UF 1 2o YL P EE R AR E24] 3,030 3,080]smui ] RIT.10.1
RIK] ot d=poibaed-ES 870 1,100] 5L+ g H28.7.27
304)|F—"7—RI(F(71VR74—HR) 1,320 1,650 21mu @] H9.10.13
2| 309|+FaUT1-<=27JLNo.1 1,100 1,320] sm il ke $61.2.20
310|++F2F4-<*=217JLNo.2 1,310 1,940] sm i+ H7T.3.10
Zl 311|EFa)T4 =217 ILNo3 2,300 2,409 st m H9.6.17
312|F T4 =217 JLNo.4 2,300 2,409 st m H7.4.1




—F & 2 0 B (iAs] —Reimis | = % BT
| 313|EF¥2UT1¥=aFJLNo5 2,510 2,619 smutmu]| H12.12.20
403| £ 82 FRMBoK YR 580 660] = =
404| 4% S BN R (308t 580 660] = =
4052 TA4BA L AS) 800 800 = =
407|X ) T484 L (R B HKIEFES) 1,600 1,600 = & R3.11
409|EF 2 T84 L (1 FHH) 10,0001 10,000] 52
48|Z e - RLAEHEDERICEAITTGRXE) 4,290 4730] = & H22.4.6
419|(35AERS ZHEDSH] 1,880 3300 = =& H19.5.23
421]security eye 15 660 770 = % H20.3.20
#| 422|SECURITY HANDBOOK 280 330] = = H25.11.1
W3 |BHNEBEAR RS/ —F 550 1,100] 1m215m H26.11.12
A |exaUTAEALBNF— 1,570 1,889 = &
44|ro54E2 SR) BiERA 1,280 1,602] = &
M3 BAED (EE) it 1,280 1,602] = &
M5\ B4EV(BR) ZiER 1,280 1,602] = &
NINRIBMEV (&) & 1,600 1923] = &
432| 9 B41E 2 (£)2015 1,540 2200] = = H27.5
| 433|RUHAAET ($R)2015 1,540 2200] = = H27. 5
426X T4 TS F—1\yP(SP) 1,250 1,430] = =
427X T4 HIILEU YT (SC) 1,250 1,430] = =
428|273y AJSSA (70-) 520 880] = =
429|E >/ AJSSA (51)-) 520 880] = =
430|E /Ny AJSSA (TUY) 520 880] = =
436 ERA—TRYI-I) RAE— 610 7169 = = H28. 5
437 4ABRA—2RYI-1) SARTIL— 610 7169 = = H28. 5
%l 438 ABRA—TRVI-N) EVy 610 7169 = = H28. 5
3| ABRA—TRVI-1) R 610 769 = = H28. 5
A0 ABARH—DRYI-I) 48 500AKLLE 590 748 = = H28. 6
AN |ABRA—TRV9-I) 48 1000AKLLE 580 738 = = H28. 6
2445) v F<—Hh— 990 1,320 = = H25.6.7
2455 ) — = —H—(*7%K74}) 770 990] = = H25.6.7
246)5")—2—H—TN-) 770 990] = = H25.6.7
247|5 ) —o=—h—(TY) 770 990] = = H25.6.7
248)|5" ) —=—H—FHLYY) 770 990] = = H25.6.7
245-1 |9y 7 - =—Hh—t b E 7RI} 1,650 2200] = = H25.6.7
246-1 |9y T - v—h—tyT Ib-) 1,650 2200] = = H25.6.7
247-1 |9y 7 - v—h—tyIvy) 1,650 2200] = = H25.6.7
248-1 |97 - v—h—EyrALYY) 1,650 2200 = = H25.6.7
5442 £ LIS8EDVD £6% 100,569 149,496] =
544-1|R & LIEEDVD (FE15) 17,809] 31953 &= u
H| 544-2| %2 L{E3EDVD (F2%) 17,809] 31953 = u
544-3| &£ L{S3EDVD (¥3%) 17,809] 31953] = u
B 544-4|%= 4 L{SHEDVD (F4%) 17,809] 31953] = u
544-5|R & L{EEDVD (E5%) 20,952 37,296] &=
544-6|R & L{EEDVD (F63) 20,952 37,296] &=
50235 BAWE R 1 HDVD 265 90,776 117,476] =
502-1|BEFEEZ K 1#RDVD (5 1%) 18,155 21,359] —#s520m
7| 502-2|ZEFE EE 1 #RDVD (F2#) 18,155 21,359| —ss520m
JU] 502-3| 3B R EEF 1 #DVD (553%) 18,155 21,359] —#s520m
A| 502-4| X EHEER1MRDVD (54%) 18,155 21,359] —#s520m
502-5|% @B Z 1% 1#kDVD (E5%) 18,155 21,359] —#s520m




—F & 2 0 B (iAs] —Reimis | = % BT
502-6|3 @A B Z 1 #kDVD (6#) 18,155 21,359] —ses520m
522|HEHEHKEDVD £6& 129,904| 162,381 =
£| 522-1|HEHEKEDVD (FE1H) 27,238 34571 = u
522-2|#HEiE BB AEDVD (F2%) 27,238 34571 = u
£| 522-3| I EREHFDVD (53%) 27,238 34571 = u
522-4| R EHEDVD (54%) 27,238 34571 = u
522-5| R EHEDVD (5%) 27,238 34571 = u
522-6|# = H EHEDVD (E6%) 27,238 34571 = u
507 | S 2 E({BEEDVDL 2% 29333 47981 = u
E| 507-1|#iFSh 2B EDVD (FE15) 24029 26,609 = u
#E| 507-2| i h 2 EiEEDVD (E2%) 24029 26,609 =
545|I B TY RA—F B E LT IDVD (1#) 9428 14300] &= u
523|3EFELHEF2MDVD (£245) EEiR 41,904 54476 = #
523-1|RXBFEEBER2H/OVD (F1%) 2Rk 20952 27,238] = u
523-2| X BFEEBEF2H/OVD (F2%) EHiR 20952 27,238] = u
£| 524|BEHEEFS2MBDVD (£2%5) ERE 41,904 54476 =
524-1| M BN H£7524DVD (F15) ERR 20,952 27,238] =
524-2| i BN (H£7524RDVD (F2%) ERdR 20,952 27,238] =
2| 525|MEREREE2MDVD (£2%) EhiR 41,904 54476 =
525-1| e SR EH £ 75284 DVD (5 15) BB R 20,952 27,238] =
525-2| e SR E[H £ 7524k DVD (F 2% ) EH iR 20,952 27,238] =
526 5 i % #5243 2B IDVD (15) EHifR 20,952] 27,238] = #
528l RIFEIRVEEFEIDVD (£ 1) 16,761 20428 =
530)2-1 B {5 2R E B E R B HAEDVD (2 15) ¥ /R 15,400] 22,000] 4s%wssom| R4.3.24~
37| 532|2-1 Bt B E B S X EDVD (£158) YRR 15,4001 22,000] 4% <3s50m R4.6.1~
TE] 534|1-3EiEH2BREMBZZMEREDVD (215) ¥RE 15,400] 22,000] as%wssom| R3.2.24~
536|2-1 Bt o R E K EHE - £ BEHDOVD (2 15) $7iE 13,2001 19,800] 4#=%<3som| R3.7.19~
2| 546|BEFELMER1MOVD(£18) 2R 17,600 22,000] 4%s70m
] 547|MEEBET 1ROV (£15) EHR 17,600] 22,000] 4%370m
W 548 MEEREHETS1#RDVD (£1%) WETHR 2R 17,600 22,000] 4xs70m R2.9~
54| Z E £ 75 LE#H 1 RDVD (£ 1%) ER R 17,6001 22,000] s%<370m
553|221 )T¢-aH)LAFDVD(£ 145) 1,880 3,300] 4 %350 H24.7.6
K| 600z @Ak SHSEM 4,158 4620] & @ R3.7.10
| 604|Fmk21 FREERRBEDRER 942 1,047] & # H21.12.21
605| H18ER ECa7ILT—% 2,277 2530 = H20.4.11
700|FHERE SHAER 7,122 8,580 460 R3.12.15
701 HhMYPF NRIEE R-NEIKEEDRS 1,414 1,972 180 H22.7.15
| 705|65REEFHERO-ODAE-EEFHIE 1,782 1,980] 290 H25.6.20
07| S EEEEHRLEAEEGE 15 1,980 2,200 180 H28.4.10
108|BEEEERBBAEMEE (78 1,980 2,200 180 H27.6.30
B 709|\SRAUN —BIBEWIET HED— 1,485 1,650 180 H31.4.25
TO|SHAEREE LY RE1E 13,860 15,400 350 R4.8.25
T|SHNLEREE VY RE2E 13,860] 15,400 350 R4.8.25
EH 12| M4ERESE LY RE3E 14,850 16,500 350 R4.8.25
T3 SHAEREE VY RFE4LE 11,880] 13,200 350 R4.8.25
NATOBHRERROER -E%E 1,980 2,200 180 R3.11.25
S| T16|EHAFEIR HERRFHLZRIREF—/—k 2,970 3,300] 215 R4.5.20
NT|SH4ERR F18- 1 SRR EE/ —F 1,584 1,760 180 R4.5.20
T8|BRIEN— oA LT EEDEEE 1,188 1,320 180 H27.3
T FEF LDONOHENE IR 1,980 2,200 180 H21.2.20
800|EHEEERME (218 17,8201 19,800] :msmy fnggr=




1=F & 2 IO B (s ] —heimis | = % BT
801|& R IR EHEREi% (R4.6 B E1THUNER) 530k 1,485 1,650] 15275/ R4.6
B2|RENABNIREY=2TI 4,455 4,950] 1#360m H21.2.6
803|1E N 1ERIFE/ R TV o(ER) 9,900 11,000] #pms k=
Z| 804| HIRMERZERE RN\ UFT Vo) 10,890 12,100] zumyu hnpR=C
805|TKDRAYE EEMIIR (B EEXS) 31,428 - - -
806|I[KDRAYE IEERITR (REMNEXS) - 52,380 - -
| 80| EEEA—LR—CEBY—ER] 107,800] 129,800 - -
808|l B EHPRA - BEHERI2EEDH 66,0001 66,000 - -
10| EHHIEDER NETH 1,584 1,760] 1#8300m/ R2.12.21
ftt] 812|(AHETHRIAAXATHENES 2,574 2,860] 1#ma60m -
S1I3|CERI A AX AT RERAGENR) 4752 5,280] 1#460m R3.4.7
S14|ZBE RE-RERTYFIvY 217 242] #p=E® H28.10.31
816| FH4ELRIARAXERDEZH IDK 1V E X 2,772 3,080] 1#a10m R4.7
817 A AERR D E 5 &30l 2,970 3,300] 1#ma60m H25.12.6
820|%EH5|- B ERAN L EREYIVMREE 1,833 2037] = =& H28.3.11
8307 4 RN—RR (FAANYI3MEF) RAE—(S) 6,900 7,920] mEEEMms1 FALE R
8317 A RN—F R (FAAN93E) RAE—(M/L) 6,900 7,920] mEEEMms1 AR
832| 74 RN—FZ (FAAN YA F) RAE—(LL/3L) 6,900 7,920] mEEEMms1 AR
K| 83| TARN—RR(FAANYI3EF) RAE—(XL) 6,900 7,920] mEEE M1 FALE R
834| 7 A RN=R X (FAANYI3BF) TIL—(S) 6,900 7,920] mEEEMmis1 FALE R
W 835|7ARN—RR(FAAN )3 T IL—(M/L) 6,900 7,920] mEEEMmis1 FALE R
8367 A R/N—F R (FAAN9H3{E ) T IL—(LL/3L) 6,900 7,920] mEEEMmis1 FALE R
I| 837 FARN=RR(FAANYI3MERF) T IL—(XL) 6,900 7,920] mEEE s FALLE RS
838| 7 A RN—R X (FAANYY3EF) T L—(S) 6,900 7,920] mEEE s FALLE RS
H 8| TARN—RX(FLANYY3MER) FL—(M/L) 6,900 7,920] mEEE s FALLE RS
8407 A RN—F R (FAANYY3{E ) ¥ L—(LL/3L) 6,900 7,920] mEEE M1 FALEEY
8417 A RN—F A (FAANY3{A ) T L—(XL) 6,900 7,920] mEEEms1 AR
842|7 A RIN—F A (FAANYI3MA ) T5v5(S) 6,900 7,920] mEEEMms1 FEALLEEN
8437 A RN—F R (FAANYY3{ER) T5v5 (M/L) 6,900 7,920] mEEEMms1 FEALLEEN
844 7 A R N—FZ (FAZN 3B ) T 5wH(LL/3L) 6,900 7,920] mEEEMms1 FEALLEEN
8457 A4 RN—RZ (FAANYI3MAF) TS5v% (XL) 6,900 7,920] mEEEMms1 FEALLEEN
846|zxEAT A R/ v (3AEYE) 1,300 1,885] mmas i HALEES
847|#@BIA NS YT 500 660]| /%S 175 ML R
850|NEW7{AN—4A1274—h (RAFISER) FAE—(7Y-) 7,500 9,020 s 175 ML EE
851|NEWFAAN—%R1=74— L (R A FIE ) R T A+ (7Y-) 7,500 9,020| s s 175 M L E R
410|AJSSA 57 774 IL(E%399—11) 100 102] = =& R3.4
450|AJSSA T vy (Hlife) M 1,320 1,324 = =% H30.5
451|AJSSA T+ (§fif) L 1,320 1,324] = = H30.5
452|AJSSA T+ (Hfif2) LL 1,320 1,324] = = H30.5
2| 453|AJSSA TL vy (i) 3L 1,450 1,500 = = H30.5
454|AJSSA T vy (HiifR) 4L 1,450 1,500 = = H30.5
455|AJSSA REUF RO Y (FiHE) M 1,730 1,732] = =& H30.5
] 456|AJSSA REUEIUROL Y (HE) L 1,730 1,732] = =& H30.5
457|AJSSA KB E I RO Y (FifE) LL 1,730 1,732] = =& H30.5
458|AJSSA KRB AU RAL Y () 3L 2,100 2200] = =& H30.5
7 459|AJSSA ARELEHUROL Y () 4L 2,100 2200] = =& H30.5
460JAUSSA R—IL R 28R —T R (FH0kK —)b) 540 550] = = RJT.6
420|AJSSA FrvF (Qv-fyva) 2,440 2445 = = H28. 11
434|AJSSA R -ARSYT 610 611] == H29. 7
OFBHLAAHDME. EHENREEFLH TITEXT I, SMAE10A14EHIRTE 10%




M= & 2 [z Effita] —hemmis ] = B | 5T ]
EEEAE BREBEN Y Mk

HEHHFRAEEBRE VDS ~45) 1,360 1,360 = =

ERZEXBEEE/ VD 1,360 1,360] = =
OWEBYDAHETIEX TS,

BREN Y it

B R BB R R D 1,320 1,320] = &

308 MR- AR - BB - BRI 28R D 1,050 1,050] = &

ORENY D EX Il P EE~PRBLLET .



